Supplementary Information

Synthesis of Phosphonates from Phenylphosphonic Acid and its Monoesters

Réka Henyecz, Adrienn Kiss, Virdg Moérocz, Nora Zsuzsa Kiss and Gyorgy Keglevich*

Department of Organic Chemistry and Technology, Budapest University of Technology and

Economics, 1521 Budapest, Hungary

Fax: (+36)-1-463-3648; Phone: (+36)-1-463-1111/5883; e-mail: gkeglevich@mail.bme.hu

Table of contents:

GEeNEral INFOIMEALION ..ottt ere pg. S1
General procedure for the esterification of phenylphosphonic acid and its monoesters............ pg. S1-S3
Characterization data for new compounds 3d-N..........ccoiiiiiiiiiii s pg. S4-S6

Spectra for compounds 2a-C and 38-N.........cooiiiiiiii e pg. S7T-S17



General information

The MW-assisted reactions were carried out in a CEM® Discover (300 W) focused MW
reactor equipped with a stirrer and a pressure controller applying 10-150 W irradiation. The
81p, BC and H NMR spectra were obtained in CDCl; or DMSO-ds solution on a Bruker
AV-300 spectrometer operating at 121.5, 75.5, 300 and 500 MHz, respectively. The 3P NMR
chemical shifts are referred to HsPOs, while the 3C and *H chemical shifts are referred to
TMS. The couplings are given in Hz. The exact mass measurements were performed using an

Agilent 6545 Q-TOF mass spectrometer in high resolution, positive electrospray mode.

General procedure for the esterification of phenylphosphonic acid and its monoesters

1. General procedure for the direct esterification of phenylphosphonic acid (1)

A mixture of 0.10 g (0.63 mmol) of phenylphosphonic acid (1) and 9.45 mmol of an
alcohol (0.55 mL of ethanol, 0.87 mL of n-butanol, or 1.5 mL of n-octanol) was measured in
a sealed tube, and irradiated in the MW reactor applying 50-150 W irradiation in the
presence of 0.012 mL (0.060 mmol) [bmim][BF4] at the temperatures and for the times
shown in Table 1. (The pressure developed was in the range of 1-18 bar.) The excess of
alcohol was removed under reduced pressure, and the residue purified by column

chromatography (silica gel/ethyl acetate) to afford products 2a-c.

Phenylphosphonic acid monobutyl ester (2a): 3P NMR (CDCls;, 121.5 MHz) §: 20.5,
8pl51:52 (CDCl3, 202.4 MHz): 21.8, 8p°°1 (CDCls, 121.5 MHz): 21.8; [M+Na]* = 237.0652,

C10H1503PNa requires 237.0656.

Phenylphosphonic acid monoethyl ester (2b): 3P NMR (CDCls, 121.5 MHz) &: 20.3, &pl*4
(CDCls, 500 MHz): 20.7, 801 (CDCls, 121.5 MHz): 21.0; [M+H]* = 187.0521, CgH1203P

requires 187.0524.

S1



Phenylphosphonic acid monooctyl ester (2c): 3P NMR (CDCls, 121.5 MHz) &: 20.5, 55!
(CDCls, 202.4 MHz): 22.8, 8p°71 (CDCl3, 202.4 MHz): 22.6; [M+H]" = 271.1460, C14H2403P

requires 271.1463.

2. General procedure for the alkylating esterification of phenylphosphonic acid (1)

A: A mixture of 0.10 g (0.63 mmol) of phenylphosphonic acid (1), 0.068 mL (0.63 mmol)
or 0.15 mL (1.4 mmol) of butyl bromide, and 0.10 mL (0.69 mmol) or 0.19 mL (1.4 mmol) of
triethylamine in a closed vial was irradiated in the MW reactor at 10-20 W at the given
temperature for the appropriate time. The resulting mixture was filtered, and removal of the
volatile components provided the crude product that was analyzed by 3P NMR spectroscopy.
See Table 2, entries 1 and 3, as well as Table 3, entries 1-5.

B: The phenylphosphonic acid (1) and the butyl bromide were measured in as above (see
Method A), but in 1 mL of acetonitrile, and instead of triethylamine 0.095 g (0.69 mmol) or
0.19g (1.4 mmol) of potassium carbonate and 0.0072g (0.032 mmol) or 0.014g
(0.063 mmol) of benzyltriethylammonium chloride was used. The mixture was irradiated in
the microwave reactor as above at 10-30 W. The resulting reaction mixture was filtered, and
removal of the volatile components gave the crude product that was analyzed by 3P NMR

spectroscopy. See Table 2, entry 4, and Table 3, entry 6.

3. General procedure for the direct esterification of phenylphosphonic acid monoesters
)

A mixture of 0.47 mmol of phenylphosphonic acid monoester (2a: 0.10 g, 2c¢: 0.13 g) and
7.05 mmol of an alcohol (0.65 mL of n-butanol or 1.1 mL of n-octanol) was measured in a
sealed tube, and irradiated in the MW reactor using 50-150 W irradiation in the presence of
0.0088 mL (0.047 mmol) or 0.017 mL (0.094 mmol) of [bmim][BFs], or 0.0097 mL

(0.047 mmol) of [bmim][PFe] at the temperatures and for the times shown in Table 4. (The

S2



pressure developed was in the range of 1-10 bar.) The excess of alcohol was removed under
reduced pressure, and the residue purified by column chromatography (silicagel/ethyl acetate)

to afford the corresponding phosphonates as shown in Table 4.

4. General procedure for the alkylating esterification of phenylphosphonic acid
monoesters (2)

A: To 0.75 mmol of phenylphosphonic acid monoalkyl ester (2a: 0.16 g, 2b: 0.14 g, 2c:
0.20 g) was added 0.75 mmol of an alkyl halide (0.060 mL of ethyl iodide, 0.068 mL of
propyl bromide, 0.070 mL of isopropyl bromide, 0.081 mL of butyl bromide, or 0.13 mL of
octyl bromide) and 0.12 mL (0.83 mmol) of triethylamine. The contents of the closed vial
were irradiated in the MW reactor at 10-20 W. The resulting mixture was filtered, and
removal of the volatile components provided the crude product that was purified by column
chromatography (Brockmann | type neutral aluminium oxide/ethyl acetate—hexane) to afford
diesters 3a-h in purities of >99% as colorless oils (Table 5, entries 1, 3 and 5, as well as
Table 6, entries 1, 3, 5, 7, 9 and 11).

B: The monoesters (2) and alkyl halides were used as above, but in 1 mL of acetonitrile,
and instead of triethylamine 0.095 g (0.069 mmol) of potassium carbonate and 0.0072 g
(0.032 mmol) of benzyltriethylammonium chloride were measured in. After carrying out the
reaction as above, the resulting mixture was filtered, and removal of the volatile components
provided the crude product that was purified as described above to give diesters 3a-h

(Table 5, entries 2, 4 and 6, as well as Table 6, entries 2, 4, 6, 8, 10 and 12).

The following products were prepared by Method A:

Dibutyl phenylphosphonate (3a): 3'P NMR (CDCls, 121.5 MHz) &: 18.8, 8p[*°! (CDCls)

19.4; 8p°°1 (CDCls, 162 MHz) 19.4; [M+Na]* = 293.1284, C14H2303sPNa requires 293.1283.

S3



Diethyl phenylphosphonate (3b): 3P NMR (CDCls, 121.5 MHz) &: 18.9, 8 (CDCls)

19.7, 857 (CDCls, 162 MHz) 18.4; [M+H]* = 215.0834, C10H1603P requires 215.0837.

Dioctyl phenylphosphonate (3c): 3!P NMR (CDCls, 121.5 MHz) &: 18.0, 81 (CDCls,
202.4 MHz) 18.8, 5152 (CDCls, 202.4 MHz) 18.0; [M+H]" = 383.2718, C22H400sP requires

383.2715.
Characterization data for the new compounds 3d-h

Butyl ethyl phenylphosphonate (3d):

31p NMR (CDCls, 121.5 MHz) &: 17.7; 13C NMR (CDCls, 75.5 MHz) 5: 13.6 (CH3)?, 16.4 (d,
J = 6.4; CH2CHs), 18.8 (CH3)?, 32.5 (d, J = 6.5, OCH2CHy>), 62.2 (d, J = 5.4; OCH,)", 65.9
(d, J = 5.7; OCH,)", 128.48 (d, J = 188.0; C1), 128.51 (d, J = 15.0; C»)¢, 131.8 (d, J = 9.8;
Cs)%, 132.4 (d, J = 3.0; C4); 'H NMR (CDCl3, 300 MHz) &: 0.87 (t, J = 7.4, 3H; CH3)?, 1.22—
1.43 (m, 5H; OCH2CH2° and CHs?), 1.55-1.68 (m, 2H; OCH,CH,)?, 3.91-4.19 (m, 4H;
2XOCHy), 7.38-7.55 (m, 3H; ArH), 7.72-7.83 (m; 2H; ArH),** may be reversed; [M+Na]* =

265.0967, C12H1903PNa requires 265.0970.

Butyl propyl phenylphosphonate (3e):

31p NMR (CDCls) §: 18.8; 3C NMR (CDCls, 75.5 MHz) &: 10.1 (CH3)?, 13.6 (CHz)?, 18.8
(CH2CH3), 23.8 (d, J = 6.6; OCH2CH>)°, 32.5 (d, J = 6.5; OCH2CH>)®, 65.8 (d, J = 5.7;
OCHy)®, 67.6 (d, J = 5.7; OCH>)%, 128.41 (d, J = 188.2; C,)¢, 128.46 (d, J = 15.0; C1), 131.8
(d, J = 9.8; C3), 132.4 (d, J = 3.0; Cs); *H NMR (CDCls, 300 MHz) & 0.81-0.94 (m, 6H;
2XCHs), 1.27-1.42 (m, 2H; CH2CHs), 1.55-1.72 (m, 4H; 2xOCH2CHy>), 3.86-4.10 (m, 4H;
2XOCHy), 7.37-7.54 (m, 3H; ArH), 7.71-7.82 (m, 2H; ArH),%¢9 may be reversed; [M+H]* =

257.1307, C13H2203P requires 257.1307.

S4



Butyl isopropyl phenylphosphonate (3f):

31p NMR (CDCls) 8: 17.8; 3C NMR (CDCl3, 75.5 MHz) &: 13.7 (CH2CH3)?, 18.8 (CH2CHs),
23.9 (d, J = 4.9; CHCH3)?, 24.2 (d, J = 3.9; CHCH3)?, 32.5 (d, J = 6.7; OCH2CHy), 65.7 (d, J
= 5.7, OCH)®, 71.0 (d, J = 5.6; OCH,)", 128.4 (d, J = 14.9; C)°, 129.2 (d, J = 188.4; Cy),
131.8 (d, J = 9.8; C3)°, 132.2 (d, J = 3.0; C4); 'H NMR (CDCls, 300 MHz) &: 0.87 (t, J = 7.4,
3H; CH,CHs), 1.22 (d, J = 6.2; 3H; CHCH3)?, 1.28-1.42 (m, 5H; CH,CH3 and CHCH3?),
1.55-1.66 (m, 2H; OCH2CHy), 3.87-4.08 (m, 2H; OCHy>), 4.60-4.78 (m, 1H; OCH), 7.36—
7.56 (m, 3H; ArH), 7.71-7.85 (m, 2H; ArH),*®>¢ may be reversed; [M+H]* = 257.1307,

C13H2203P requires 257.1307.

Ethyl propyl phenylphosphonate (3g):

31p NMR (CDCl3, 121.5 MHz) &: 18.9; 23C NMR (CDCls, 75.5 MHz) §: 10.1 (CH2CHs), 16.4
(d, J = 6.4; OCH2CHs), 23.9 (d, J = 6.6; OCH.CH?>), 62.1 (d, J = 5.5; OCH>)?, 67.6 (d, J =
5.7; OCH2)?, 128.49 (d, J = 188.0; C1), 128.50 (d, J = 15.0; C2)°, 131.8 (d, J = 9.8; C3)",
132.4 (d, J = 3.0; C4); *H NMR (CDCls, 300 MHz) &: 0.91 (t, J = 7.4, 3H; CH3)¢, 1.29 (t, J =
7.1, 3H; CHa3)¢, 1.66 (h, J = 7.1, 2H; OCH2CH>), 3.88-4.19 (m, 4H; 2XxOCHy), 7.38-7.57 (m,
3H; ArH), 7.72-7.84 (m, 2H; ArH),**° may be reversed; [M+Na]* = 251.0809, C1:H:703PNa

requires 251.0813.

Ethyl isopropyl phenylphosphonate (3h):

31p NMR (CDCls, 121.5 MHz) &: 17.7; 3C NMR (CDCls, 126 MHz) §: 16.4 (d, J = 6.6;
CHCHs3), 23.9 (d, J = 4.8; CHCH3)?, 24.1 (d, J = 3.9; CHCH3)?, 61.9 (d, J = 5.3; OCH2)®,
71.0 (d, J = 5.6; OCH)®, 128.4 (d, J = 14.9; C,)°, 129.2 (d, J = 187.8; C1), 131.8 (d, J = 9.8;
Cs)S, 132.3 (d, J = 3.0; C4); *H NMR (CDCl3, 500 MHz) &: 1.20 (d, J = 6.2, 3H; CHCH3)?,
1.27 (t, J = 7.0, 3H; CH2CHz), 1.34 (d, J = 6.1, 3H; CHCH3)?, 3.96-4.13 (m, 2H; OCHy),
4.63-4.73 (m, 1H; OCH), 7.39-7.45 (m, 2H; ArH), 7.47-7.53 (m, 1H; ArH), 7.75-7.82 (m,

2H; ArH),2*¢may be reversed; [M+Na]* = 251.0814, C1:H1703PNa requires 251.0813.

S5



References

[S1]

[S2]

[S3]

[S4]

[S5]

[S6]

[S7]

Kiss, N. Z.; Mucsi, Z.; Béttger, E.; Drahos, L.; Keglevich, G. A three-step conversion
of phenyl-1H-phosphinic acid to dialkyl phenylphosphonates including two
microwave-assisted direct esterification steps. Curr. Org. Synth. 2014, 11, 767-772.
DOI: 10.2174/1570179410666131212231130.

Kiss, N. Z.; Keglevich, G. Direct esterification of phosphinic and phosphonic acids
enhanced by ionic liquid additives. Pure Appl. Chem. 2019, 91, 59-65. DOI:
10.1515/pac-2018-1008.

Crenshaw, M. D. Synthesis of alkyl- and arylphosphonic acid monoesters by direct
esterification of dibasic phosphonic acids in the presence of an arsonic acid catalyst.
Phosphorus,  Sulfur, and  Silicon, 2004, 179, 1509-1516. DOI:
10.1080/10426500490464032.

Szabd, A.; Jaszay, Z. M.; Toke, L.; Petnehazy, 1. Interesting by-products in the
synthesis of chiral a-aminophosphinates from enantiopure sulfinimines. Tetrahedron
Lett. 2004, 45, 1991-1994. DOI: 10.1016/j.tetlet.2003.12.151.

Jablonkai, E.; Keglevich, G. P-Ligand-free, microwave-assisted variation of the Hirao
reaction under solvent-free conditions; the P—C coupling reaction of >P(O)H species
and  bromoarenes.  Tetrahedron  Lett. 2013, 54, 4185-4188. DOI:
10.1016/j.tetlet.2013.05.111.

Chen, T.-H.; Reddy, D. M.; Lee, C.-F. A palladium-catalyzed oxidative cross-
coupling reaction between aryl pinacol boronates and H-phosphonates in ethanol. RSC
Adv., 2017, 7, 30214-30220.

Iranpoor, N.; Firouzabadi, H.; Moghadam, K. R.; Motavalli., S. First reusable ligand-
free palladium catalyzed C—P bond formation of aryl halides with trialkylphosphites
in neat water. RSC Adv., 2014, 4, 55732-55737.

S6



Spectra for compounds 2a-c, 3a-h
| 30000

25000

2a

20000

15000

10000

rs000

oo 95 90 85 80 75 70 65 60 55 50 45 40 35 30 25 20 15 10 5 a
f1 (ppm)

() | 11000

10000
re0oo

2b 8000
7000
6000
5000
(4000
3000

2000

1000

1000

T T T T T T T T T T T T T T T T T T T T T
a0 95 90 85 80 75 70 65 60 35 50 45 40 35 30 25 20 15 10 5 a
f1 (ppm)

S7



HO—P—O/\\/\/\/\

2c

—20.499

15000

14000

12000

12000

11000

10000

[aoon

8000

7000

6000

o000

4000

3000

2000

rioo00

r-1000

/\/\O_IFI:_O/\\/\

3a

65

T T T T T T T T T
60 35 50 45 40 35 30 25 20
f1 (ppm)

—1878

60 55 50 45 40 35 30 25 20
f1 (ppm)

S8

15

10

50000

45000

40000

35000

30000

23000

20000

15000

10000

o000

ro




18,91

L6000
//\O—H—O/N\ k24000
F2z000
20000
3b
BET
L6000
4000
H2000
Hoooo
Faooo
6000

4000

2000

F-2000

0o 95 90 85 80 75 70 65 60 55 50 45 40 35 30 25 20 15 10 5 0
f1 (ppm)

14000

—l8.2

?
,"/\‘\v/”\\\vf”\“\«/”\“()__F:_.C)’/\“\v/”\‘x«f’f‘“\,/"\\\

13000
12000
3(‘,‘ F11o00
rioooo
o000
8000
7000
6000
rs000
4000
3000
(2000

1000

1000

T T T T T T T T T T T T T T T T T T T T T
0o 95 90 85 80 75 70 [ 60 35 50 45 40 35 30 25 20 15 10 5 a
f1 (ppm)

S9



0
NP0

—17.68

26000

24000

22000

20000

(18000

16000

14000

12000

10000

reooo

6000

4000

2000

F-2000

2500

(2000

1500

1000

500

10 95 90 85 80 75 70 65 60 55 50 45 40 35 30 25 20 15 10
f1 (ppm)
smerng=n B2 28R B L
HEs=ma88 g i 1 ol ol ol R
HAmARANRY RE wua g ad R
ey e 1 YW v (IR
1
. i - il
TR T T ——— e e T A R e 0
T T T T T T T T T T T T T T T
30 140 130 1z0 110 100 a0 a0 70 60 50 40 30 20 10
1 (ppm)

S10



FRRERHELYIURA SENEON-SEBREIBUEREHES GHYBRYSRNARRAREY
RN EEEET TITTIIANISTI5990008 TuTIii g it RG S
R e S
i e it oo |-700
o) ;
PPN 1 P | 1650
O-P-0O
[ F600
{ | I
| i |
[ | {
[ | [ Fsso
/
| / |
I 3d / P J lsao
450
400
350
300
250
| |
200
hi
[ 150
1} [
100
[ 50
. |
o
T = e e
- [ g = E F-s0
R o S &
T T T T T T T T T T T T T T T T T T T T T
1.0 9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 5.0 4.5 4.0 3.5 3.0 2.5 2.0 1.5 1.0 0.5 0.0
f1 (ppm)
&
] 26000
N\ Il /v l
0-P-0 24000
F22000
20000
3e
18000
16000
F14000
F12000
10000
8000
6000
4000
2000
o
F-2000
T T T T T T T T T T T T T T T
10 95 90 85 80 75 70 65 60 55 50 45 40 35 30 25 20 15 10 5 0
f1 (ppm)

S11



2 5] g 5] g 5] 2 2 2 o 2 o o o o o o o o o o o o -
= a E I E] I = I 2 = ] I3 2 7 = 2 2 It 2 I = & 2 = ]
n b =+ ™M m™m ™~ ~ — — n =] [l = =] i n =+ %- [l m ~ o~ — — sl =] [l
1 i 1 L L L L 1 1 1 1 1 1 1 Il 1 1 1 1 1 1 1 1 1 1 1
. )
3
B0
w0
orot— 2 80
' 3 80 — A —
— - —— ;
09 w0y = Fros
0 w
; &'
LRI -
& Y T h"..m.nuu Foz
6LET ot
iy Bl I—— — = = = oo
w1
E = o1
PHEE m 65'1
78°ZE e
01
E o 69
2 3
£8'EY
8
2 6
16'C
%'E
£'Ey
werl L
o 68 — . _ )
° =g f - .—vsv
8450 o]
A @
P ol
v RS
5040 o 0l
— FDVI_
bL9L ﬁ. W wr
N 3 =
ol =" e
8540 o o)
2
N o=0a &
1 H O
ES
|
=0 & o
O . © g
o] !
Bl
:LW
'L
] 'L I
2
= A = — —— =
7D ~ = Fwz
Hh% ) L
el — T——— ~%'1
Y
o L
~ 9L
o121 e
ﬁmu/
ﬁﬁ). e
BT~ - 2
2E, 3 2
5311
I
(T
o
&

2.0 1.5 1.0 0.5 0.0

2.5

4.5 4.0

f1 (ppm)

7.0 6.5 6.0

7.3

9.0 8.3 8.0

9.5

S12



26000

—17.80

@]
//\W/A\O_B_O 24000

k22000
20000
3f F18000
16000
14000
12000
o000
F8000
6000
4000

2000

0

2000

4000

6000

IR0 0 LA Bt 0 RO N » Al 8 R K

95 an as 80 75 70 65 &0 55 50 45 40 35 30 25 20 15 10 5 a
f1 (ppm)

132,26
122
131.85
131,73
18,53
1835
1279
7758
7716
7674
70.99
7002
65.71
65 64

32,55
32,46
24.18
24.13
23.95
23.88
—1882
—1365

8000

130,49

!
\
{

7500
7000
6500
6000
3f 5500
o000
4500
4000
3500
3000
2500
2000
1500

1000

500

500

T T T T
140 130 120 110 100 90 80 70 60 50 40 30 20 10 0
f1 (ppm)

S13



3f

C

AT S A T e L T Fi1oo

1000

| rooo

| Fso0

700

600

500

400

300

200

rioo

3g

—18.86

(25000
24000
23000
22000
21000
20000
19000
Fisoo0o
17000
16000
15000
14000
13000
12000
rii000
10000
o000
8000
(7000
(6000
5000
4000
3000
2000
1000

-1000
2000

T
55

T T
50 45
f1 (ppm)

S14



= = = = = = = = = = = o
2 2 2 = = 2 2 = = = = = S s o 2 © e o © o =2 o o = = o = o o
= A = I = I3 = 5 = I = = 2 7 =& B © @B =S @w © @@ © W = @© = @B = o 2
=] el sl =+ M- m m o~ o~ - - n =] 1 o ) r~ ~ -1 = el ['s] M- =+ el © o~ o~ - — ['s] = 1}
1 1 1 1 L 1 1 1 1 L 1 1 1 1 1 1 1 Il 1 1 1 L 1 1 L 1 1 1 1 I 1
= B
3
10— 2
1 AN .
! — — Fere
99T~ s’
Sk9T 3 £
2 B2 == — Fwz
=T M
ZHEE > 091~
teEs £9'1-F — -= == = Fmz
ER
E - 891
= o'
E 2 -
H 8L
g
3 065
16'51
6'E
€65
o % 'E
n 85'E
3 w0
3 10'4
3 RS
.m - 0 —
= E B W'+ —
sreo 3 0+ ~
v
3 ']
65'¢9
e 3 Lol
m 2 %S
R
- BRS
3 £ BRE
(TN F 3 & RS
ER Ty M_ o S|
85'¢L o a1 v“__
ES
E Bl
|
= — [=2]
3 > o= ™
|
H e o}
W - Ob'L:
B -
3 - mum
o) 3 : b
S
%L
E] Bb'L -
2 ]
- [L:0% — r———— T TS o
i — =
= N )
= — == Fwz
& i
4 o SL
A F MM
0% @u/ vl
09T — ey
bEET - = iy
i F
A IET, b
68'1ET
" HH*
W
-4 g
4

30

0.0

9.0 8.5 8.0 7.5 7.0 6.5 6.0 5.5 4.5 4.0 3.5 3.0 2.5 2.0
f1 (ppm)

9.5

S15



3h

—17.66

14000

12000

12000

11000

10000

o000

reooo

7000

6000

5000

(4000

3000

2000

rio00

1000

50000

45000

40000

35000

30000

25000

20000

15000

10000

(5000

ro

10 95 90 85 80 75 70 65 60 35 50 45 40 35 30 25 20 15 10
f1 (ppm)
ARzRaea g2z B8 28 =25 &R
HEmsmaHE mKes oo = FEeie wg
HRAAAHS RRE €8 33 588 =22
e T NN v e N
AN W s
r T T T T T T T T T T T T T T
30 140 130 120 110 100 90 80 70 60 50 40 30 20 10
f1 (ppm)

S16

~-5000



ri500

1400

1300

1200

1100

rio00

re0o

800

700

600
500
400
300
200
100
o

[-100

u¢§§¢dgAA

HRARREAR

RRR?
e
UL

3h

£I'e
A0E
bIE

Foo

6.0 5.5 5.0 4.5 4.0 3.5 3.0 2.5 2.0 1.5 1.0 0.5 0.0
f1 (ppm)

6.3

7.0

7.5

9.5 9.0

2.0

S17



